Book — 1(Chapter-1)

Human Geography: Nature and Scope
GIST:

e Physical compounds of environment/surrounding.

e Relationship to physical environment with human beings.
o Different physical environment have different socio-economic activities.
e Approaches of studying human geography.

e Human anatomy.

e Nature of Human geography.

e Naturalization of humans and humanization of nature.

e Environmental determinism.

e Possibilism.

e Neo-determinism or stop and go-determinism.

e Human geography through the corridors of time.

e Fields and sub-fields of human geography.

e Welfare or humanistic school of thought.

e Radical school of thought.

e Behavioural school of thought.

1 Mark Questions And Answers

Q1. Who coined the term of geography and when?
Ans. Eratosthenes, about 2200 years ago.

Q2. Name four famous geographers of 19" century.
Ans. Humboldt, Hooker, Wallace and Darwin.

Q3. Name two schools of thought of human geography.

Ans. (i) Welfare or Humanistic school of thought



(i) Radical school of thought
Q4. What does behavioural school of thought emphasis?

Ans. It emphasis on lived experience and also on the perception of space by social categories based on
ethnicity, race and religion.

Q5. Define human geography.
Ans. It refers changing relationship of man with environment.
OR
Human geography can be defined as interrelationship between earth and human beings.
Q6. What is determinism?
Ans. It can be defined as environmental control on human activities.
Q7. How is human anatomy used in human geography?

Ans. The scientific structure of human body. Physical and human phenomena are described in metaphors

using symbols from human anatomy.

Q8. What does human geography enquire about its objects?

Ans. Geographers wish to find out answers to the questions like where, what and how.

Q9. Name the American geographer who explained the influence of climate on the history of man.
Ans. Elsworth Huttington

Q10. Which agricultural crops become known after discovery of new world?

Ans. Corn (maize), Tobacco, Potato and Cocoa.

3 Marks Questions and Answers

Q1. How human geography is related to other social sciences?
Ans. (i) It explains the relationship between all elements of human life and space they occur over.
(ii) 1t is highly interdisciplinary nature.

(iii) It develops close interface with other sister disciplines in social sciences.



Q2. Describe in brief about different schools of thought of human geography.
Ans. (i) Welfare or humanistic school of thought.
(i) Radical school of thought.
(iii) Behavioral school of thought.
Q3. What is environmental determinism? Give one example in support of your answer.

Ans. Total control of environment on human action/responses for example in primitive age/early period
man fears with clouds, thundering, heavy rain, floods and with fury of nature, because he did not know
the reason.

Q4. Write three features of possibilism.
Ans. (i) Natural environment doesn’t control human life absolutely but offers a numbers of possibilities.
(if) Man is active rather than passive.
(iif) Man makes choices of one possibility according to his convenience and need.
Q5. Give a brief description about fields of human geography.
Ans. (i) Social Geography
(i) Urban Geography
(iii) Economic geography
Q6. What are disciplines of social sciences?
Ans. (i) Urban studies and planning
(i) Agricultural sciences
(iii) Demography
(iv) History
(v) Military science
(vi) Political Science
Q7. Explain the concept of Neo-determinism.

Ans. (i) Griffith Taylor introduced this concept.



(ii) It reflects middle path between determinism and possibilism
(i) It is also called stop and go determinism

(iv) It is based on traffic lights- Red -stop ,Yellow-see and Green-go.

5 Marks Questions and Answers

Q1. Explain Naturalization of humans and humanization of nature.

Ans. Naturalization of humans:

0] In early age human as a passive, nature as active aspect.
(i) Control of nature on human activities.

(iii) Level of knowledge and technology was low.

(iv) Stage of social development was primitive.

(V) In above situation we can imagine a naturalized human, who was afraid of nature furry.

Humanization of Nature:

(i) Itis stage of social cultural and technological development.

(i) Humans created possibilities with resources obtained from the environment.
(iii) Humans created cultural landscape. Imprints of human activities are seen everywhere.
(iv) Nature provides opportunities and human being make use of these and nature get humanized.

Q2. Describe sub-fields of Human Geography.

Ans. (i) Behavioural Geography
(ii) Geography of social well being
(iii) Geography of leisure
(iv)Cultural Geography
(v) Gender Geography
(vi)Historical Geography
(vii)Medical Geography



Book-1(Chapter 4)

Human Development

One Mark Questions

Q.1 Expand I.L.O.

Ans. International Labour Organisation.

Q.2 Write Four Pillars of the human development.

Ans. Equalities, Sustainability, Productivity and Empowerment.
Q.3 Expand U.N.D.P.

Ans. United Nations Development Program.

Q.4 Which country has the highest human development index?
Ans. Norway

Q.5 Write any two components of Human Development.

Ans. Education & Health

Q.6 In which year was the first Human Development report published by UNDP?
Ans. 1990

Q.7 How many countries come under High HDI category?
Ans.57

Three Mark Questions

Q.8 Name Four countries having high human development index . Discuss three reasons for high human

development index.
Ans. Four countries with high human development index :

(1))-Norway



(i)-Iceland
(ii)-Australia
(iv)-Luxembourg

Reason for high HDI

- (1) Investment more in the Social Sector (education , health care).

- (i) Good governance.

- (iii) Free from political turmoil and instability.

Q.9 Name any four countries having low human development index. Discuss three reasons for

low human development index.
Ans. (i) Nigeria

(i1) Sierra Leone

(iii) Burking Faso

(iv) Mali
Reasons for low HDI.

- (i) Political turmoil.

- (ii) Social instability (civil war).

- (iii) Famine.

- (iv) High incidence of diseases.

Q.10 What are the three parameters of HDI?

Ans. (i) Health (ii) Education (iii) Access to resources.

Five Marks Questions

Q.11 Why does the particular region of the world keep reporting low or High levels of human

development? Explain by giving suitable examples?

Ans. Countries advanced in the three key areas i.e. health, education and access to resource are
having high level of human developed such as U.S.A, Japan etc. The countries lagging behind in

above mentioned three key areas are having low level of human development such as Nigeria .



Q.12 What is the basic goal of development? Explain with examples the four pillars of human
development.

Ans. — The basic goal of development is to create conditions where people can live meaningful

lives.
The four pillars of human development —

- (i) Equity —it refers to proving equal access to opportunities available to everybody
irrespective of their gender, race, income and caste.

- (ii ) Sustainability —Sustainability means continuity in the availability of opportunities for
sustainable human development .

- (iii) Productivity —it refers to human labour productivity in terms of human work. It must be
constantly by building capabilities in people.

- (iv) Empowerment —it means to have the power to make choices. Such power comes from
increasing freedom and capabilities, good governance and people —oriented policies, so as to
empower people.

Q.13 Define human development. Describe the various approaches to Human development.

Ans. Human development is a process of enlarging the range of people ‘s choices ,increasing their
opportunities for education ,health care , income and empowerment and covering the full range of human

choice from a sound physical environment to economic , social and political freedom.
Approaches to human Development

(i)-Income Approach — The level of income reflects the level of freedom an individual enjoys . Higher

the level of income, the higher is the level of human development.
(if)-Welfare Approach argues for higher government expenditure on education heath, social secondary.

(iii)-Basic Needs Approach — The emphasis is on provision of basic need of defined sections. Six

basic needs were identified — health, education food, water supply, sanitation and housing.

(iv)- Capability Approach —Building human capability in the areas of health, education and access to

resources in the key to increasing human development.

Q.14 Discuss in detail about the alternative view of development given by Dr. Mahbub —ul hagq and Prof

Amartya Sen.



Ans. For many decades, a country’s level of development was measured only in terms of its economic
growth.

The idea that quality of life people enjoy in a country, opportunities they have and freedom there enjoy
are important in this regard.

- (1) According to Hag- development in all about enlarging people’s choices in order to lead
long, healthy lives with dignity. The basic goal of development to create conditions where
people can live meaningful lives.

- (i) Prof. Amartya Sen saw an increase in freedom all decrease in freedom as the main
objective of development

- (iii) The work of these economists are path breaking and have succeeded in bringing people of
the centre of any discussion on development.



Book -1( Chapter -5)

PRIMARY ACTIVITIES

One Mark Questions:
Q.1-In which country cooperative farming was the most successful experiment?
Ans. Denmark
Q 2- What is meant by the term ‘Growing of flowers’ ?
Ans. Floriculture.
Q 3- Which area is very important for the farming of citrus fruits in the world ?
Ans. Mediterranean region.
Q 4- Write any two primary activities?
Ans. Hunting, Agriculture, Fishing, Mining.
Q5- What do you mean by red color workers?
Ans. People engaged in primary activities.
Q 6- What do you mean by Transhumance?
Ans. Seasonal migration of the people with their herds.
Q 7- Name any two, era based on civilization, of minerals?

Ans. Copper and Bronze era.

Three Mark Questions

Q8- What is Truck Farming? Mention any two features of truck farming.
Ans :

()-This type of farming is practiced in the peripheral areas of Metropolitan cities where, vegetables and
milk are brought daily to the cities by trucks by travelling overnight.

(i1)-Farmers are engaged in growing of vegetables, fruits and flowers etc.



(ii)-They use HYV seeds, Chemicals and fertilizers.

(iv)-This farming requires a well developed network of roads connected with fields.

Q. 9- What are the chief characteristic features of dairy farming?

()-1t is most advanced types of farming which is centered on efficient rearing of milch animals.
(ii)-Heavy capital investment.

(iif)-High labour intensive as it involves rigorous care in feeding and milching.

(iv)-No off season as animals require throughout the year

Q. 10- What are the types of farming according to farming organization?

(i)-Co-operative farming: Group of farmers voluntarily pool their land and resources and co-operative
society. It is practiced in Denmark, Netherlands, Belgium, Sweden.

(if)-Collective farming: It is based on social ownership of means of production and collective labour. It
was adopted in U.S.S.R after 1917 revolution. Farmers pool their resources like land, livestock and
labour in collective farming.

Q. 11- Describe in three points the main features of plantation agriculture practiced in the world.

0 Large estates or plantations

0 Large capital investment

0 Single crop specialization

0 Managerial and technical support
0 Scientific methods of Cultivation

Five Marks Questions

Q .12- Distinguish between Intensive farming Extensive farming.

Intensive farming

0 It is practiced in high density areas where population is large and agricultural land is limited
0 It is done in Monsoon Asia.

0 Land holdings are very small.

0 Most of the agricultural operations are done by manual labour.

0 Yield per unit area is high but per labour productivity is low.

Extensive Farming




[

[

Practiced in the interior parts of semi-arid lands of the mid-latitudes.

The size of the farm is very big.

Low yield per acre but high yield per person.

Entire operations of cultivation from ploughing to harvesting are mechanized.

Wheat is the principal crop.

Q. 13- Describe in brief the commercial livestock rearing economic activity in the world.

[

[
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Commercial livestock rearing is a specialized activity in which only one type of animal is reared.
It is practiced on permanent ranches.
The emphasis is on breading, genetic improvement, disease control and health care of the animals.

Products such as meat, wool, hides and skin are processed and packed scientifically and exported

to different world markets.

[

New Zealand, Australia, Argentina, Uruguay and USA are important countries where commercial

livestock rearing is practiced.

Q .14- Why Mediterranean agriculture is considered as one of the best and profitable type of agriculture?

[
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Mediterranean agriculture is highly specialized commercial agriculture.

Viticulture or grape cultivation is a specialty of the Mediterranean region.

Best quality wines in the world with distinctive flavours are produced from high quality grapes.
Olives and figs are produced in this region.

The advantage of Mediterranean agriculture is that more valuable crops such as fruits and

vegetables are grown in winters when there is great demand in European and North American Markets.

Q. 15- Distinguish between pastoral nomadism and commercial Livestock rearing.

Pastoral Nomadism Commercial Livestock Rearing
Depends on nature Permanent Ranches

Low level of herding Advanced technology

Subsistence economy Commercial economy

Product of such activity can not compete  This is a specialized activity in which only
In the world market. One type of animal is reared.

Tribal of eastern Africa, Tundra etc. New Zealand and all the temperate grasslands.



STUDY MATERIAL GEOGRAPHY 2017

I-BOOK TRANSPORT AND COMMUNICATION CHAPTER (8)

|. Choose the right answer from the four alternatives given below :-
1) The Trans-Continental Stuart Highway runs between : (1)
a) Darwin and Melbourne b) Edmonton and Anchorage
c) Vancouver and St. John's City d) Chengdu and Lhasa
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2. Which country ha the highest density of railway network ? (1)
a) Brazil b) U.S.A.
C) Canda d) Russia
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3. The Big Trunk Route runs though ? (1)
a) The Mediterranean-Indian ocean b) The North Atlantic Ocean
c) The South Atlantic Ocean d) The North Pacific Ocean
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4. The Big Inch pipeline transports ? (1)
a) Milk b) Liquid petroleum Gas (LPG)
c) Water d) Petroleum
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5. Which one pair of the following places is linked by Channel Tunnel ? (1)
a) London-Berlin b) Paris - London
c) Berlin-Paris d) Barcelona - Berlin
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2. Answer the following questions in about 30 words :
1) Whatare the problems of road transport in mountainous, desert and flood prone regions ?

Ans. In mountainous region like the Himalayas, there is steep slope and no level Ignd which makes



construction of roads difficult. In desert areas, therew is eacessive sand, scacre vegetation low density of

population which do not encourange roads. Frequent floods in flood prone areas cause heavy damage

toroads.
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2. Whatis atrans-continental railway ?

Ans. Trans-continental Railway. Trans-continental railway are those railway lines which run across the
continental and join its two ends. Most of these railway are built to strengthen economic and political
ties.
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3. What are the advantages of water transport /

Ans. Water transport is the cheapest mode of transportation and is specially useful to transportation os
heavy cargo. Water transport is cheaper beoause the friction of water is far less than the friction of
land or air and the energy cost of transportation is much lower.
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3. Answer the following questions in not more than 150 words :

1. lllustrate the Statement "In a well managed transport system, various modes complement
each other:

Ans. Inawell manager transport system, various modes of transport do not compete with each other.
rather they compliment each other. For example, railways are more useful for bulk transport and long
distances, Roadways on the other hand are more suitable for short distance. They act as feeder
transport to railway. Railway serve ports in addition to inland areas. All good ports are well connected to
their hinterlands by a close network of railway. In fact, the British rulers constructed India railway
radiating from the ports os that the resources of hinterlands of ports could properly exploited. Thus,
railway act as complementary mode of transport to ocean routes. Passengers traveling by air reach the
airport using road and rail transport. Thus,these modes of transport are complementary to air
transport.
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2. Which is the major regions of the having a dense system of network of airways ?

Ans. Western Europe, Eastern USA and South east Asia have dense network of air route. Major air routs
converge at or radite from a few important nopal points. The major nopal points incude London. Paris,
Rome, Moscow, Karachi, New Delhi, Mumbai, Bangkok, Singhapur, Tokyo, San Francisco, Los Angeles,
Chicago, New York, and Rio de Janeiro etc. Soviet Asia and Africa lack air services. There is a distinct belt
of air routes from east to west to in the mid latitudes of the Northern Hemisphere. The USA alone
accounts for about 60 per cent of the airways of the world.

3. What are the modes by which cyber space will expand the contemporary economic and social
space of humans ?
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Ans. Cyberspace, popular access systems of the internet allowq any individual with a micro-computer
and modem to plug into cyberspace, the world of electronic computerised spaces encompassed by the
intewrnet and ralated teehnologies such as the World Wide Web (WWW) Cyberspace may exist in an
office, a sail-boator virtually any where.Cyberspace has expanded rapidly in size and in use and
importgance, including e-mail and electronic commerce, Thus, cyberspace exixt'everywhere' in short
telecommunication revolution has expanded. in the last five years there has been a shift among global
from USAto the developing countries. The percentane share of USA has dropped from 66 in 1995 to only
25in 2005. Now the majority of the world users are in USA, UK, Germany, Japan, China, and India. As
millions of new users log on to the internet each year, cyberspace has expanded rapidly in size an in use
and importance, including e-mail and electronic commerce. In short, telecommunication revolution has
expanded the human, social and economic space to a great extent.
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1. What do you mean by Road of highways ?
Whatis advantages of Road :
Ans : Road is a major medium of land transport. It varies from pathways and unmetalled roads to national
and International highways. Itis the quickest medium of transportation for shoter distance. The roads link
the fields and farms to factories, factories to markets, and the goods can be delivered right at the
doorsteps of the consumers. Advantage of Road. Road have following advantages :
1. Roads have helped in carrying the agricultural products to markets and making the uniform over
large areas.
2. Industries have gained a lot from the roads because it is very easy to carry raw materials to factories
and finished goods to markets by roads.
3. Itis easy to carry men and materials by roads.
4. Roads are most suited for short distances.
5. Thereis no need for producer to the doorstep of the consumer.
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Ques. Describe the advantage and disadvantage of pipeline transport.
Ans. Except for transporting drinking water pipelines are the most recent modes of transport. Pipelines
are mostly used for the transportation of mineral oil, natural gas and water. Advantages of Pipeline
Transport
Pipelines can be laid through difficult terrain as well as under water.
Initial cost of laying pipeline in high but subsequent cost of maintenance and operation is low.
Pipelines ensure steady supply.
It minimiser tranship losses and delays.
Pipeline operation involvos very low consumption of energy.

= S

Itis quick, cheap[,efficient and environment friendly mode of transportation.
Disadvantages of Pipeline Transport ?
1. Thereis no elasticity in pipeline transport.



Once laid, the capacity of p[ipelines can neither be increased nor it can be decreased.
Security of pipeline is certain areas is a difficult task.
Itis difficult to detect leakages.

oA LN

Inthe event of damage, pipelines cannot be easily repaired.
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6) What are the differences between Geographical Information system and Geographical Positioning

system (GIS and GPS) ?
Geographical Information Systems (GIS):

2
3
4

)
)
)
5)

Ans. Today, GIS has become an important field of academic study, one of the fastest growing sectors of
the computer industry and most importantly, an essential component of information technology. GIS
plays an important role are forestry and agriculture, geology, hydrology, human settlements, industry,
transport, marketing, business, government departments and militaryoperations apart from its increasing
popularity in the academic field. Geographical Positioning System (GPS) : the system which provides
unequalled accuracy and flexibility of positioning for navigation, surveying and GIS data capture.

The GIS has tramendous amount of application in GIS data collection, surveying and mapping. It is
world's first satewllite navigation system. GPS receiver anywhere on the earth surface is always visible

and receives signals from atleast 4 satellite.
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Ques.; What do you mean by water ways and water ways are two types Explain each details.
1) Ocean Routes 2) Inland waterways

River, canals and lakes are main medium of inland waterways. These were very important means
of transportin old days, but they have lost much of their significance with the advantage of roadways and
railways. Necessary Conditions for Development of Inland Waterways

i) River should have sufficient water throughout the year. Seasonal rivers are not much suitable for
inland waterways.

ii) Rivermustbe free from rapids, gorges, cateracts and waterfalls so that navigation could be easy.

iii) River meandering should be minimum so that boats and ships can have straight passage.

iv) Agood river mouth connects inland waterways to ocean routes.

v) Freezing of rivers during winter in cold areas hinders inland waterways.
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1) HEERRA STAART
frfoRae RN & et aRae aga & G 9T giaene e IRasT @ -
1) WY SweaTEl 9 et & i & forg grfsTe @ siftren BT B | g8 W - UEa | 9gd 9 @ B Bl
2) Wora i S em A war A aaa ? |
3) T fRd Rt & e @t sawaeRdT JEl Bl | e Tl & Sl 899X O i giaer STee A 8
e B
4) IR, T @ B T TG, N - A, Fel, Tl UF g3 TS, WA — A, Hed, Woolt T I TN IS B
ReE
2 T e, SR T TR fafiree Sreretl & faera & et aitas ot e A Sifere guR e |
5) Tl o AN ¥ T W AT T T - IARAT WA B TN B, I FAR & THE T W T AR D €A
RaET 3 Xl A1 FFH ART TR Faeil A 1 giaen e 2 |
2) MR STAART
Afea, el T2 B T TART HAAT SR Sl SRS TNl hed & TRIFHe A JdiReh SR ol 981 Aa<d
BT AT, T ! AT FEh & T o ST Heed HS FA B TATE |
ATIReh STOART o faehTa oht 3ITae Ach T
1) Ffeat aReaE B ey | S Afeal § ot haet aw A E AT 8 IR TART R A1 SoRRT @ €9 | 6l foRar
T |
2) A 1 AR ST - g, A gar, fRiftaentst qur wEragel | o B =Ry SR e o Aet geatid e
iRt T ARG B @R |
3) e # foad of & B =nfey, s den Serwmt a8t a@ e |
4) A & HE A B AeY |, ek @ ATTRAE & AReh AT <hl Sl off €4 |
5) didente § Afeal 9% | Yohd @B A6y |

ll- Book
B-2 Transport and Communication Lesson No. (10)

1. Choose the right answers of the following from the given options :
1. In how many zones has the Indian Railways system been divided ?

a) 9 by 12
c) 16 d 14
A fag aTg foaeredl 3 & et IR & 9T |
1) SR I JUTTeRt <t feere wigalt & favifora ferar mar 2 7
(®) 9 ([@ 16
@) 12 (=) 14

2. Which one of the following is the longest highways of India ?

a) N.H.-1 b) N.H.-6 c) N.H.-7 d) N.H.-8
frfoRaa o A T - A1 RS o G e TCHABTHA & 7
(®) wE () w7



Book -1(Chapter-9)
INTERNATIONAL TRADE

One Mark Questions

Q.1 Define the term international trade?

Ans-Trade refers to the movement of goods and services from area of surplus to area of deficit.
Q2 what do you mean by Free Trade?

Ans-2 The act of opening up economies for trading is known as free trade.

Q3 what is barter system?

Ans-3 -t is oldest form of trade where direct exchange of goods and services take place.
Q.4- Give the full form of SAARC.

Ans-4 -South Asian Associations for Regional Cooperation .

Q.5- Where is the headquarter of OPEC located?

Ans-5- Vienna.

Q.6- When was WTO formed?

Ans-6- 1995

Q.7 -Give any one name of a out -port.

Ans-7- Athens.

Q.8 -Give the full form of GATT.

Ans-8-General Agreement For Tariffs And Trade .

Three Mark Questions

Q.1 -How can globalization along with free trade adversely affect the economies of developing countries?
Ans-(i)- It is actually widening the gulf between rich and poor by making rich country more rich.

(ii)-The influential countries in the WTO focus on their own commercial interest.

(iii)- Many developed countries have not fully opened their market.

Q.2 -What is balance of trade? How does it become favorable and unfavorable?

Ans- The difference in the value between imports and exports is referred to as balance of trade .

- Ifexports exceed imports the country is to have a favorable balance of trade.



- If import exceed export she has an unfavorable balance of trade.
Q.3 -Explain three important aspects of international trade.

Ans-(i)-Volume of trade-

The volume of trade is the actual tonnage of the goods which is traded in the international market.
(if)- Composition of trade

Composition of trade involves types of goods and services which are entering the world trade.

(iii) -Direction of trade

The direction of trade has been changed. Today the major share of the export is contributed by the
industrial developed countries.

Q.4 Why are ports always referred to as gateway of international trade?
Ans- (i) A port handle the import and export trade of a country.
(ii)-A port is connected with its hinterland by rail- road transport.

(iii)- These land routes are used to transport the goods which are either imported or exported through
ocean route.

LONG ANSWER TYPE QUESTIONS

Q.1- Explain any two function of WTO. Why has this organization been criticized?
Ans - It deals with the global rules of trade between nations:

a. It resolves the disputes between its members.
b. To look after the promotion of free and fair trade in the world.
Criticism-
(i)- It is actually widening the gulf between rich and poor by making rich country more rich.

(i)-The influential countries in the WTO focus on their own commercial interest.
(iii)-Many developed countries have not fully opened their market.

Q.2 Explain the different basis of international trade.

Ans- Differences in natural resources —

Geological structure determined the mineral resources and topographical differences ensure diversity
of crops of a country. Climate influence the type of flora and fauna .banana, rubber can grow in
tropical regions.

Population factor-

Size, distribution, and density of population affect the type and volume of goods traded.



Densely populated countries have large volume of internal trade but little external trade because most
of the agricultural and industrial production is consumed in the local market.

Stage of economic development-

In agricultural economies, agro products are exchanged for manufactured goods whereas
industrialized nations export machinery and finished products. For example Britain depends upon
import for agricultural product.

Specialization in specific product-

Some countries attain specialization in certain type of articles such as silk in Japan and carpet in Iran
Development of means of transportation-

Rapid means of transportation having brought the world closer. The international trade has been
developed due to the means of transportation.

Q.3- Write any 5 concerns related to international trade.

Ans-:

()- international trade mutually beneficial to nation if it leads to regional specialization

(ii)- It can prove to be detrimental to nations if it leads to dependence on other countries
(iii)- Uneven level of development, exploitation and commercial rivalry leading to war

(iv) -1t can impact everything from the environment to health and wellbeing of the people around the
world

(v)- As countries compete to trade more ,production and use of the natural resources get used up faster
than they can be replenished.

Book- 1 (Chapter-10)

HUMAN SETTLEMENTS



1 MARK QUESTIONS:

01. What are the two main types of Settlements?

Ans Urban and rural

02. Name two factors on the basis of which the villages are separated from towns.
Ans Size of population, economic and administrative basis

03. Which was the first million city in the world?

Ans London

04. Which are the two groups of rural settlements?

Ans Compact and dispersed

05. Name the country with 100% urban population

Ans Singapore

06. What are slums?

Ans Unhygeinic and illegal settlements

07. Mention the name of two planned towns of the world?

Ans AddisAbaba and Canberra

08. Which city is known as mega city ? Name the first mega city of the world .
Ans: City having more than 50 lakh people is known as mega city.

First mega city was Newyork .

3 MARK QUESTIONS:

1. What are the problems of rural settlement in developing countries?

Ans : (1) Poorly equipped with infrastructure

(2) Inadequate water supply

(3) General absence of toilets and Garbage disposal facilities

(4) The house made up of mud, wood and thatch remains susceptible to damage
during natural calamities

(5) Lack of proper ventilation

(6) Unmetalled roads and lack of modern communication network

(7) Lack of health, education and recreational infrastructure

2. Differentiate between Compact and dispersed Settlement.
Ans Compact Settlements:
1. They are mainly found in fertile plains and river valleys

2. Houses are built in close vicinity to each other and have lesser living space



3. The main occupation is agriculture. The size of fields is small

4. Streets are dirty due to lack of proper drainage

Dispersed Settlements:

1. Scattered settlements are mainly found in hills, plateaus, highlands etc.

2. Houses are isolated and scattered over the land. They provide more living space
3. Animal grazing and lumbering are the main occupations

4. These settlements are quite neat and clean.

3. Classify urban settlements

Ans (i) Population Size: The Settlement in India with 5000 persons and 30,000 persons in Japan is
considered as urban. In India its density is an additional condition, which is 400 persons per sg.km
(if) Occupational structure: In Italy a settlement is called an urban. if more than 50% of the
economically productive population are engaged in non-agricultural pursuits.

(iii) Administrative Decision: In Central American countries, Brazil and Bolivia, even small

administrative centre is designated as an urban settlement.

4. Write a note onAddis Ababa.

Ans Addis - New andAbaba - flower. This capital city of Ethiopia is often called the New flower. It was
established in 1878. It is located on a hill valley topography. A new airport known as Bole airport has
also been constructed. This multi - functional city is located in the centre of Ethiopia and has grown

rapidly in the recent past.

5 MARK QUESTIONS:
1. Explain any five factors which affect the location of rural settlements in the world.
Ans. — Water Supply, Land, BuildingMaterial,, Defence

Planned Settlements.

2. What is meant by urbanisation? Describe four problems associated with over urbanisation in the
developing countries?

Ans. Urbanisation means the increase in the proportion population of a country who live in urban areas.
Congested housing and streets

Lack of drinking water facillties

Lack infrastructure such as electricity, sewage disposal health and educational facilities

Unsustainable concentration of population



3. What is healthy city? Explain its basic features
Ans. World Health Organisation suggests that a healthy citymust have a clean and safe
environment,meets the basic needs of all its inhabitants, involves the community in local government,

provides easily accessible Health Service

4. Classify rural settlements on the basis of forms or shapes
Ans. (1) Linear pattern

(2) Rectangularpattern

(3) Circular pattern

(4) Star like pattern

(5) Cross shaped pattern

5. Describe five types of towns on the basis of their functions. Also give an example of each type oftown
from different parts of the world.

Ans. - Administrative Towns - eg : New Delhi

Cultural Town - Jerusalem

Health and recreation - Miami

Industrial town- Pittsburg

Transport town - Singapore

Commercial town — Frankfurt

6. Discuss the various criteria on whichthe rural Settlements may be classified
Ans. Rural settlements may be classified on the basis of a number of criteria
(a) On the basis of setting

Plain villages

Plateau villages

Coastal villages

Forest villages

Desert villages

(b) On the basis of functions:

Farming villages

Fishermen’s villages

Lumberjack villages



Pastoral villages

(c) On the basis of forms or shapes of the settlements
Linear

Rectangular

Circular

Star like

T Shaped

Double village

Cross-shaped village

7. Distinguish between Rural settlements and Urban settlements.

Ans
Rural Settlement Urban Settlement
1. People are engaged in primary 1. People are engaged in secondary
activities. activities and services.
2. Village panchayat 2. Municipality Corporation and cantt.
3. Small population 3. Large population with high densities
4. Simple mode of living 4. Advance mode of living
5. Pollution free/Eco friendly 5. Pollution due to transport and
industries.




